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D. 3x +1/x (B)

C.4 D.1 (B)

D.3x2+4x+5  (Q)

C. -3 D.-6 ©)

D. ©Td §¢ 3iTd1 8 ©)

6. (x +Yy)* ! faedRd &1 & feiw B1H-H Uz
(identity) TIPTEAT 22
A X3+ Y3+ 3xy(x +y)
Cx3-y3 D.x%-y? (A)
7T : TE S1 et & IPT & o BT T 2l
7. SEUG p(X) = X? - 9B I AT 8?
A.pdd 3 B. %3
C. I -3 D.0 (B)
&r&T: x* - 9= 0Pl 81 BA W x = £3 fAeTar 2|
8. g & q B\9-aTUE Iguc el 87
B. x% + 3x

A.x+1

C.x +1/x D.4x%-x+2 (@)

T 1/x = x~' H TR &l ©1d KUTHDB &, 511 FIgUc | Al

=il

9. ax?+ bx + c U BT IgUT (maTa # 0) T HEATAT8?
A IRaB B. &t

C.fgara D.fgue (@
75T : ©1d 2 a1l Jgyq B! fgemd §guc Bbed &l

10. [ S[gUE &I TTd T Bl &?
A.0 B.1
C. 379RHTSa D. 31Hd (@)

7% ; [ SgUC Bl BIg HiHd a1d TEl Bidt, AT 54

IRMIS T HMT S71dT 81




